TITLE:	PEOPLE, LAND, & WATER NEWSLETTER								
TERM:	JULY 1, 2003 thru JUNE 30, 2004								
		Page 01	of 01	PROGRAM	1 B792	2 - S			
			CHESAPEA	CHESAPEAKE PUBLISHING Easton, Maryland					
	DEPARTMENT OF INTERIOR	BASIS OF	Easton,			(E PUBLISHING			
	PROGRAM B792-S	AWARD	UNIT RATE	COST	UNIT RATE	COST			
I	ELECTRONIC PREPRESS:								
(a)	Scanning Black and White Photos								
	per illustration	2	5.50	11.00	5.50	11.00			
	Color Corrected Four-Color Process Scans								
	of Illustrations:								
(b)	Up to 50-sq. in. imageper set	1	65.00	65.00	65.00	65.00			
(c)	Over 50-sq. in. to 100-sq.in. imageper set	1	75.00	75.00	75.00	75.00			
(d)	Over 100-sq. in. to 150-sq. in. imageper set	1	95.00	95.00	95.00	95.00			
(e)	System Timeworkper hour	2	35.00	70.00	35.00	70.00			
II	PRINTING & BINDING:								
	Regular Issue:								
(a)	Pages Printing in Black Ink Colorper page								
(1)	MAKEREADY/SETUP	256	14.83	3,796.48	14.83	3,796.48			
(2)	RUNNING/1.000 COPIES	11796	1.65	19,463.40	1.65	19,463.40			
(b)	Printing Each Additional Ink Colorper page		İ						
(1)	MAKEREADY/SETUP	153	6.25	956.25	6.25	956.25			
(2)	RUNNING/1,000 COPIES	7050	0.389	2,742.45	<u> </u>	2,742,45			
	Four-Colors Process Pages Only -			, , , , , , , , , , , , , , , , , , , ,					
(c)	Pages Printing in Four-Color Processper page	·							
(1)	MAKEREADY/SETUP	60	33.58	2,014.80	33.58	2,014.80			
(2)	RUNNING/1.000 COPIES	2762	2.817	7,780.55		7,780.55			
	Special Issue:			.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					
	Four-colors process pages:								
(c)	Pages printing in four-color processper page:								
(1)	MAKEREADY/SETUP	128	37.02	4,738.56	37.02	4,738.56			
(2)	RUNNING/1,000 COPIES	8576	3.318	l	3.318	28,455.17			
III	PAPER: (PER 1,000 LEAVES).								
(a)	Bright Newsprint (35-lb)	9114	5.28	48, 12 1.92	5.28	48,121.92			
(b)	White Offset Book (50-lb)	1072	7.03	7,536.16	<u> </u>	7,536.16			
IV	PACKING & DISTRIBUTION:		7.55	1,000.20	7.00	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			
(1)	Bulk Shipments:	-							
(a)	Packing and Sealing Shipping Containers								
(4)	per container	77	2.60	200.20	1.60	123.20			
(2)	Mailed Shipments:		2.00		2.00				
(a)	Affixing Labels on Single Copies (Self-Mailers)								
	per 1,000 labels	13	21.00	273.00	21.00	273.00			
(b)	Single/Multiple copies, over 200 leaves, up		21.00	275.00	21.00	275.00			
(6)	to 12-lbs., Max., 14-lbsper envelope/bag	5752	1.00	5,752.00	0.70	4,026.40			
(c)	Ouantities over 12-lbs, up to 36-lbs, max		1.50	3,732.00	0.70	7,020.70			
12.7	40-lbsper bundle/container	2029	2.00	4.058.00	1.50	3,043.50			
				1,000.00	2.50	5,5 .5.50			
	CONTRACTOR TOTALS			\$136,204,94		\$133,387,84			
	DISCOUNT		0.00%	\$130,204.94	0.00%	\$0.00			
	DISCOUNTED TOTALS		5.53 76	\$136,204.94	5.5576	\$133,387.84			
	DISCOURIED TOTALS		-	\$150,207.5T		\$100,007.0 <del>1</del>			
		-		AWARDED					
	I .		1	ATTAILLE	1				

TITLE:	PEOPLE, LAND, & WATER NEWSLETTER	T										
	JULY 1, 2002 thru JUNE 30, 2003	<b>-</b>	<del> </del>				<del>                                     </del>					
. =		Page 01	of 01			PROGRAI	M B 7 9 2 -	- S				
	DEPARTMENT OF INTERIOR	BASIS OF										
	PROGRAM B792-S		UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I	ELECTRONIC PREPRESS:											
(a)	Scanning Black and White Photos						†					
`	per illustration		-									
	Color Corrected Four-Color Process Scans	T										
	of Illustrations:											
(b)	Up to 32,258 mm2 (50-sq. in.) imageper set											
	Over 32,258 mm2 (50-sq. in.) to 64,516 mm2											
	(100-sq. in.) imageper set											
(d)	Over 64,516 mm2 (100-sq. in.) to 96,774 mm2											
	(150-sq. in.) imageper set											
(e)	System Timeworkper hour											
	PRINTING & BINDING:											
(a)	Pages Printing in Black Ink Colorper page											
(1)	MAKEREADY/SETUP						†				1	
(2)	RUNNING/1,000 COPIES						1				<u> </u>	
(b)	Printing Each Additional Ink Colorper page						†					
(1)	MAKEREADY/SETUP											
(2)	RUNNING/1,000 COPIES											
	Four-Colors Process Pages Only -											
(c)	Pages Printing in Four-Color Processper page.											
(1)	MAKEREADY/SETUP											
(2)	RUNNING/1,000 COPIES											
	PAPER: (PER 1,000 LEAVES).											
(a)	Bright Newsprint 52 g/m2 (35-lb)											
(b)	White Offset Book 75 g/m2 (50-lb)											
	PACKING & DISTRIBUTION:											
(1)	Bulk Shipments:											
	Packing and Sealing Shipping Containers											
	per container						<u> </u>					
(2)	Mailed Shipments:	T										
	Affixing Labels on Single Copies (Self-Mailers)											
	per 1,000 labels											
	Single/Multiple copies, over 200 leaves, up	T										
<u>`</u> ´	to 5.4 kg (12-lbs.), Max., 6.3 kg (14-lbs)						<del>                                     </del>					
	per envelope/bag											
(c)	Quantities over 5.4 kg (12-lbs), up to	T										
	16.3 kg (36-lbs), Max., 18.1 kg (40-lbs)											
	per bundle/container											
	<u> </u>											
	CONTRACTOR TOTALS	<b>†</b>										
	DISCOUNT	<b>†</b>										
	DISCOUNTED TOTALS						1					
		1										

TITLE:	PEOPLE, LAND, & WATER NEWSLETTER	T										
	JULY 1, 2002 thru JUNE 30, 2003	<b>-</b>	<del> </del>				<del>                                     </del>					
. =		Page 01	of 01			PROGRAI	M B 7 9 2 -	- S				
	DEPARTMENT OF INTERIOR	BASIS OF										
	PROGRAM B792-S		UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I	ELECTRONIC PREPRESS:											
(a)	Scanning Black and White Photos						†					
`	per illustration		-									
	Color Corrected Four-Color Process Scans	T										
	of Illustrations:											
(b)	Up to 32,258 mm2 (50-sq. in.) imageper set											
	Over 32,258 mm2 (50-sq. in.) to 64,516 mm2											
	(100-sq. in.) imageper set											
(d)	Over 64,516 mm2 (100-sq. in.) to 96,774 mm2											
	(150-sq. in.) imageper set											
(e)	System Timeworkper hour											
	PRINTING & BINDING:											
(a)	Pages Printing in Black Ink Colorper page											
(1)	MAKEREADY/SETUP						†				1	
(2)	RUNNING/1,000 COPIES						1				<u> </u>	
(b)	Printing Each Additional Ink Colorper page						†					
(1)	MAKEREADY/SETUP											
(2)	RUNNING/1,000 COPIES											
	Four-Colors Process Pages Only -											
(c)	Pages Printing in Four-Color Processper page.											
(1)	MAKEREADY/SETUP											
(2)	RUNNING/1,000 COPIES											
	PAPER: (PER 1,000 LEAVES).											
(a)	Bright Newsprint 52 g/m2 (35-lb)											
(b)	White Offset Book 75 g/m2 (50-lb)											
	PACKING & DISTRIBUTION:											
(1)	Bulk Shipments:											
	Packing and Sealing Shipping Containers											
	per container						<u> </u>					
(2)	Mailed Shipments:	T										
	Affixing Labels on Single Copies (Self-Mailers)											
	per 1,000 labels											
	Single/Multiple copies, over 200 leaves, up	T										
<u>`</u> ´	to 5.4 kg (12-lbs.), Max., 6.3 kg (14-lbs)						<del>                                     </del>					
	per envelope/bag											
(c)	Quantities over 5.4 kg (12-lbs), up to	T										
	16.3 kg (36-lbs), Max., 18.1 kg (40-lbs)											
	per bundle/container											
	<u> </u>											
	CONTRACTOR TOTALS	<b>†</b>										
	DISCOUNT	<b>†</b>										
	DISCOUNTED TOTALS						1					
		1										

TITLE:	PEOPLE, LAND, & WATER NEWSLETTER	T										
	JULY 1, 2002 thru JUNE 30, 2003	<b>-</b>	<del> </del>				<del>                                     </del>					
. =		Page 01	of 01			PROGRAI	M B 7 9 2 -	- S				
	DEPARTMENT OF INTERIOR	BASIS OF										
	PROGRAM B792-S		UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I	ELECTRONIC PREPRESS:											
(a)	Scanning Black and White Photos						†					
`	per illustration		-									
	Color Corrected Four-Color Process Scans	T										
	of Illustrations:											
(b)	Up to 32,258 mm2 (50-sq. in.) imageper set											
	Over 32,258 mm2 (50-sq. in.) to 64,516 mm2											
	(100-sq. in.) imageper set											
(d)	Over 64,516 mm2 (100-sq. in.) to 96,774 mm2											
	(150-sq. in.) imageper set											
(e)	System Timeworkper hour											
	PRINTING & BINDING:											
(a)	Pages Printing in Black Ink Colorper page											
(1)	MAKEREADY/SETUP						†				1	
(2)	RUNNING/1,000 COPIES						1				<u> </u>	
(b)	Printing Each Additional Ink Colorper page						†					
(1)	MAKEREADY/SETUP											
(2)	RUNNING/1,000 COPIES											
	Four-Colors Process Pages Only -											
(c)	Pages Printing in Four-Color Processper page.											
(1)	MAKEREADY/SETUP											
(2)	RUNNING/1,000 COPIES											
	PAPER: (PER 1,000 LEAVES).											
(a)	Bright Newsprint 52 g/m2 (35-lb)											
(b)	White Offset Book 75 g/m2 (50-lb)											
	PACKING & DISTRIBUTION:											
(1)	Bulk Shipments:											
	Packing and Sealing Shipping Containers											
	per container						<u> </u>					
(2)	Mailed Shipments:	T										
	Affixing Labels on Single Copies (Self-Mailers)											
	per 1,000 labels											
	Single/Multiple copies, over 200 leaves, up	T										
<u>`</u> ´	to 5.4 kg (12-lbs.), Max., 6.3 kg (14-lbs)						<del>                                     </del>					
	per envelope/bag											
(c)	Quantities over 5.4 kg (12-lbs), up to	T										
	16.3 kg (36-lbs), Max., 18.1 kg (40-lbs)											
	per bundle/container											
	<u> </u>											
	CONTRACTOR TOTALS	<b>†</b>										
	DISCOUNT	<b>†</b>										
	DISCOUNTED TOTALS						1					
		1										